Ty REODBHAILT

SEHKAR

K £ BEES
BEE (E3 i HEEAB| & A =|
BHEES GiLIERES
FTTE i KEBEM™ e
O®#avs Y —kJoy s -
B |\DiiE (hAmE B, 2o U— IOy R, O HEERE
ROBE | rum | BR moBE m
37
WEFE S§;E$§§ _ [Dﬁzgégaszﬁﬁzt 2EITRET BEBHIZHS ]
(EBERET ) R OREEEXE L4 2FKITRET HERAICHE L
smiery [DERCEL TS (RIEEHER  m)
Gl CHERRICE L TLVEW i
A. ERMEEDEZE [(EAXR1EREE) B. BEAEDNEZE SMEFRK)
2 B ] H geEs| iR 2 i I8 B [zern| SHEFRRK
105555 10 |® oL | 1.0|D
LHOIE
BEZOEH 10 Ll E. 20K 8 wots h v 0.7
204 L) £ 5 1 .
\El DUER T L 1.0 (@
- D L 10 |@ » Y |07
i H Y 0 s oL [1.0]®
A R 10 [® — H Y 0.7
! T8 - NEEEFERD| 0 = L LVER # L | 1.0
1 CHERESS (Rt - %1k) L _
sour |\ wns | 5] 2 —
== 24 (D~DOR/ME
 2mBT 516 NEFRHE (D~DK/IME) 0.0
TN 1.2m%Z8Z. 2.2mLT| 10
2.2m%ZHBA D 0
15cmid 10 |®
FOES 12¢m C. B Aom haZkh Uit hiFkEk]
10cm E 237} 15 B (seru| WHEREHK
X T L 10 |@ BAVELY 1.0 |C
BhLTO
BRLIRYT ey 5 ¢opoE | bFEMBC | 0.8
HY 10 RELHL 0.5
7335 L 0
MR T AE 0
» Y 10 |@
AR EZE ‘s At .
oL 5 D. RERRDZH (REFEH
. Hh Y 10 Z i1 e B |z#r%| REGRK
= L 5 Wik - GEpLx | ® Y [ 1.5]D
_ _ A REOQHR B L | 1.0
EAXMEEE (OD~OFETOHERDEE) 0
HREFRQDEE
EXRMREEA NEZREB it 71 %24 C REEZHED HwETRQ
0 x 0.0 x 0.0 x 0.0 = 0
HREFTES # 7E HEERR
O Q=70 ZELEBHbNnD,
O 55=Q <70 —IEREERDOND,
O 40= Q<55 EEEET 5,
EI Q<40 BRTH 5,




